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GANPAT UNIVERSITY
M.TECH. SEM. II -ELECTRONICS & COMMUNICATION ENGINEERING

REGUr_AR EXAMTNATION APRIL, JUNE 2016
38C20 4 Optical Nerworks

TIME:3 HRS TOTAL MARKS: 60

Instructions: (1) This Question paper has two sections. Attempt each section in separate ans#er book.
(2) Figures on righr indicate marks.
(3) Be precise and to the point in answering the descriptive questions.

SECTION-I

Describe node architecture of slotted optical packet switched network.

Yh..1 tl the -impact of traffic changes on a network using serial Optical Add-Drop
Mult iplexers?
Define Iight tree with exarnple.

OR
Discuss different contention resolution rnethocls in optical packet switchecl networks.
D i scuss about d ifferent reconfi gLl ra b I e OA DM a rch i tectu res.
Wlrat is optical burst?

Cive difference between point to point WDM (PWDM) ring architecture ancl fully
optical ring architecture. I)iscuss PWDM ring architecture in detail.
Explain different burst assembly algorithms.

Discuss about the node with fixed wavelrn!il ,onn.rsion capability and limited
wavelength conversion capability in WDM network.
Draw the block diagrum ond give details'about wavelength routing mesh networl<.

Expl a in, cl i fferent burst schectu I in g a I gorithm s,
Write short note on,routine in IP network.
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SECTION.II

Define section, line and path in SONET? Give details about Line overhead and path
overhead bytes.
Explain opaque switch architecture for supporting multicasting.

OR
What isthedifference-berween l+l OMgand l+i OCh protection schemes? Drew.
and explain both.
Describe the protection tnechanisrn in Ring interconnection and Dual hornilg.

What are the different scenarios for optical cross connect deployment? Draw and
explain al l  of them.
Discuss Distributed Relative capacity Loss (DRCL) algorithm lvith exarnple-

OR
Discuss Least- Used (LU) and Relative Capacitl, Loss (RCL) algorithnrs with
example.
Write short note on storage area netr.vorks.

what is the role of optical line terminal in wDM network? Discuss this with
necessary drawing.
Describe fixed routing ane,l fixed-alternate routiirg with exarnples.
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